—HEEARETFERS FBOFEREE

H FRrk2699H 1H
£ Fpk2748A 31H

A D AR EAQERE e
KFTH TR 0 T B "
T
E=B & 5,180,000 5,180,000{70,000[1 X 7444
KRB S® 100,000 100,000
HESHE 570,000 570,000
ZESBESE 1,814,500 1,474,000
THERITE 900,000 691,400
Fepl ot 930,000 904,000
it 9,494,500 8,919,400
HMEI A BITAEFE LY HE & 100,000 100,000
FR—iay 7714t 380,000 576,938
2t 480,000 676,938
— AR A SN A
Feple B SEHRASIUA 158,000 158,000{2,0009 X 794
Bt 158,000 158,000
SHINAEET (A 10,132,500 9,754,338
SIS 1,070,883 1,070,883
MASE (B) 11,203,383 10,825,221
(HAL: M)
FH O FAYE A iz
KFTH TR i) "
RER
il 1,835,000 1,804,347
OJBAZ—NEaikiHE 850,000 916,075 |35 1R
QJBAZ — L3R 2 700,000 550,325
HERIT# 1,200,000 1,040,518
LESE¥EE 1,898,000 1,521,317
KeRl| 1,026,000 959,600
HIEEEY 20,000 20,000|/R A% — &
= 7,529,000 6,812,182
EHYE
Eeds Lo 640,000 591,325 |1 B &%
FITR A 544,000 661,792
HEEM 100,000 28,897
B{EERE 140,000 142,272
B 100,000 68,880
AT B {4 100,000 100,000
FOMUEEE 192,000 391,008 iR R
it 1,816,000 1,984,174
iR A4 T H
iRl B2 EHFESL e 100,000 100,000
AISES0BE LT LRSS 500,000 500,000
Bt 600,000 600,000
Wil TR 1,258,383 0
LH X HEEr (C) 11,203,383 9,396,356
B SER (A)-(C) -1,070,883 357,982

ORI 32 A58 (B) - (C)

0

1,428,865




—AEEEAREFFERSFOFERREE

B ERk264E9H 1H
T FRE274E8H31H

A2 50 A E RSB ESEISFH (Bif7: )
XA DFER BA9HEE A itz
RFLE TR s ¥
—WY 2SI
ANCS0EFReTEYR 500,000 500,000
it 500,000 500,000
M A RS 0 0
FILE 0 623
=T 0 623
MHINAGEE (A) 500,000 500,623
AT AR I S 225 3,621,730 3,621,730
XA EET (B) 4,121,730 4,122,353
(BA7: )
X H O A9 i A9 FE .
KEH FEEH B TR
HER
18 0 0
ERE
Lt TR 0 0
il 0 0
LHIHEEE (C) 0 0
LI R =R (A)-(C) 500,000 500,623
SN 2% (B)-(C) 4,121,730 4,122,353
B ERE264E9H 1H
F FRE274E8A31H
il ES= U AV =1 N (HA7: 1)
A DR A AR st
<FTH PR b ) e
—t it A I A
SHRNSBER 100,000 100,000
it 100,000 100,000
M A
FILE 0 222
Bt 0 222
HHIASE (A) 100,000 100,222
A AR I S 7 1,392,035 1,392,035
XA &5t (B) 1,492,035 1,492,257
(W42 1)
DR HAE A9 T iz
K H THEA LR v
EEE
B 100,000 13,284
—x = EHRE ST 158,000 158,000 | i@z %3 2,000/ x 794
it 258,000 171,284
BB (C) 258,000 171,284
B E= (A)-(C) ~158,000 ~71,062
KN T EF (B)-(C) 1,234,035 1,320,973

LREBIZOWTHIRBE RO R, WThbEERIILERBOET,

w17 ® g/ n

—_—l

oA

{

-
e o T

/e
&




